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QUESTION 1

Scenario: An ISP provides SaaS to enterprise customers as part of a cloud offering. A NetScaler is configured to
support multi-tenant deployments. Traffic isolation for each enterprise (tenant) is achieved using VLAN segmentation for
each enterprise customer. As an example, incoming client requests from enterprise customers are assigned to separate
VLANs. Which feature can an administrator configure to specify that the VIP for customer1 will only listen to requests
coming from VLAN1 and the VIP from customer2 will only listen for requests from VLAN2? 

A. Static Routes 

B. Policy-based routing 

C. MAC-based Forwarding 

D. Network-aware policies 

Correct Answer: D 

 

QUESTION 2

Scenario: An administrator set up a NetScaler in an HA configuration. When the Primary node was rebooted due to a
power failure, the failover did NOT occur as expected. 

Which configuration settings must have prevented the failover in the above scenario? 

A. Primary node is set to fail-safe mode. 

B. Primary node is set to stay secondary. 

C. Secondary node is set to do not failover. 

D. Secondary node is set to stay secondary. 

Correct Answer: D 

 

QUESTION 3

What must an administrator configure when adding a new SNMP manager to a NetScaler configuration using the
Configuration Utility? 

A. Source port 

B. SNMP community string 

C. Source Interface Number 

D. SNMP manager IP address 

E. SNMP Trap Type (Basic or Advanced) 

Correct Answer: D 
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QUESTION 4

An administrator needs to create a health check that will mark an HTTP service down if the bound monitor probe
exceeds 40 milliseconds. 

How can the administrator create the monitor for this health check using the command line interface? 

A. set mon monitor-HTTP-1 HTTP -interval 40 milli 

B. add lb mon monitor-HTTP-1 HTTP -interval 40 milli 

C. set mon monitor-HTTP-1 HTTP -resptimeout 40 milli 

D. add lb mon monitor-HTTP-1 HTTP -resptimeout 40 milli 

Correct Answer: D 

 

QUESTION 5

Scenario: An administrator must configure a new NetScaler 9.2 deployment at a large organization. The 

administrator must use the following information when configuring the NetScaler system: 

IP addresses to use when configuring the NetScaler 9.2 deployment: 

VIP: 12.15.40.49 

MIP: 10.165.40.69 

NSIP: 10.165.40.68 

DNS Server: 78.35.14.99 

Internal Web server IP address: 10.165.40.10 

An HTTP virtual server is created and HTTP services are bound to the default settings. 

From which IP address will the Web server receive communications from the NetScaler system in this 

scenario? 

A. 12.15.40.49 

B. 78.35.14.99 

C. 10.165.40.30 

D. 10.165.10.68 

E. 10.165.40.69 

Correct Answer: E 
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QUESTION 6

Which two actions should an administrator take to configure HA monitoring, including HA failover, when configuring
NetScaler systems in an HA pair? (Choose two.) 

A. Enable all interfaces. 

B. Disable all unused interfaces. 

C. Enable HA monitoring for all interfaces. 

D. Disable HA monitoring for unused interfaces. 

Correct Answer: BD 

 

QUESTION 7

Scenario: An administrator is attempting to force synchronization between two nodes in an HA setup. Once the
synchronization is complete, the administrator receives a message. 

In order to verify that the synchronization has been successful, the administrator should execute the __________
command. (Choose the correct option to complete the sentence.) 

A. show node 

B. show monitor 

C. show sync status 

D. show system status 

Correct Answer: A 

 

QUESTION 8

A network administrator wants to ensure that connection multiplexing is enabled for all client connections that hit a
virtual server. Which service type should the administrator select to enable connection multiplexing? 

A. SSL 

B. FTP 

C. TCP 

D. HTTP 

Correct Answer: D 

 

QUESTION 9
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An administrator has configured a virtual server on the NetScaler for www.domain.com. 

Which expression should the administrator use in a content switching policy to switch based on the domain? 

A. REQ.HTTP.URL == www.domain.com 

B. REQ.HTTP.URL contains www.domain.com 

C. REQ.HEADER Host contains www.domain.com 

D. REQ.HTTP.HEADER Host == www.domain.com 

Correct Answer: D 

 

QUESTION 10

Which type of SNMP trap would allow for an administrator to specify a minimum level of severity of events? 

A. Public 

B. Private 

C. Generic 

D. Specific 

Correct Answer: D 

 

QUESTION 11

Which load balancing method should an administrator configure so that all requests coming from a specified network
are sent to the same server? 

A. Domain Hash 

B. Source IP Hash 

C. Destination IP Hash 

D. Source IP/Destination IP Hash 

Correct Answer: B 

 

QUESTION 12

How can an administrator configure a health check for a server receiving HTTP traffic so that it monitors the response
code of the server to actual client requests and NOT to probes whenever possible? 

A. Configure an HTTP-ECV monitor. 

B. Configure an HTTP-Inline monitor. 

1Y0-A21 Practice Test | 1Y0-A21 Exam Questions | 1Y0-A21 Braindumps                                5 / 7

https://www.certbus.com/1y0-a21.html
https://www.certbus.com/1y0-a21.html
https://www.certbus.com/1y0-a21.html


https://www.certbus.com/1y0-a21.html
2024 Latest certbus 1Y0-A21 PDF and VCE dumps Download

C. Use the TCP monitor with the transparent parameter selected. 

D. Configure an HTTP monitor with the transparent parameter selected. 

Correct Answer: B 

 

QUESTION 13

Scenario: An administrator is configuring a NetScaler for a network environment where the back- end servers are
located on different subnets. The administrator will need to configure the NetScaler to communicate with the different
subnets. 

Which two steps should the administrator take to maintain the communication between the NetScaler and the back-end
servers? (Choose two.) 

A. Enable USIP mode. 

B. Enable Path MTU Discovery. 

C. Ensure USNIP mode is enabled. 

D. Configure SNIPs for the server subnets. 

Correct Answer: CD 

 

QUESTION 14

Scenario: An organization has just purchased NetScaler appliances and is in the process of reconfiguring their network
environment. As a requirement, the local network administrator must set up their network environment with URL
transformations in order to modify complex URLs that are difficult to remember. 

Which three steps must the administrator take to complete the URL transformation process? (Choose three.) 

A. Enable the Rewrite feature. 

B. Enable the Responder feature. 

C. Create the URL transformation profile. 

D. Create and bind a rewrite policy for HTTP requests and responses. 

E. Create and bind the URL transformation policy for HTTP requests and responses. 

Correct Answer: ACE 

 

QUESTION 15

Scenario: An administrator introduced two new servers into a server farm; the servers can handle more traffic than the
older servers. The current load balancing method set for the virtual server managing the traffic for this group of servers
is least connections. The administrator wants to maintain that load balancing method but also wants to use the new
servers to improve performance by sending more traffic to them than to the older servers. 
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Which advanced option must the administrator configure to achieve this? 

A. Max Client 

B. Service Weights 

C. Backup virtual server 

D. Global Setting Override 

E. Connection-based Spillover 

Correct Answer: B 
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